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Del 2: Grammatikk

Tid: 4 timer (totalt for Del 1 og Del 2) "

Malform: Engelsk

Sidetal: 2 + forside

Hjelpemiddel: Ingen

Vedlegg: ingen

Merknader: Eksamenen bestér av to separate oppgavesett (Fonetikk og
Grammatikk). Besvarelsene til hver del leveres inn hver for
seg.

Denne eksamenen (sammenslatt karakter for Fonetikk og Grammatikk) teller

60% av den endelige karakteren i kurs 2006.




Eksamensresultata blir offentliggjort pa nettet via Studentweb

30% A.

1. For each of the underlined adverbs in a-c below, state whether it
functions as a premodifier or an adverbial, and furthermore what type
the adverbial is.

a. She looked hopefully at him.

b. He has become increasingly worried about her health.

c. He was driving rather quickly.

2. The underlined items in d-f all have adverbial function. What form
does each adverbial have, and what type of adverbial is it?

d. Quite obviously, the best decision would be to act quickly.

e. Only twice did he mention it.

f. My grandfather used to live in London.

15% B. Explain the difference in form and/or meaning in the following
sentence pairs.

(1a) Did you remember to bring your membership card?
(Ib) Do you remember bringing your membership card?

(2a) The Senator went on to talk about the state of the economy.
(2b) The Senator went on talking about the state of the economy.

(3a) On our way home we stopped to buy groceries at Walmart.
(3b) We stopped buying groceries at Walmart because of the prices.



15%

40% D.

C.

Identify the subordinate clauses in the sentences below, and classify

them according to finitude (finite / non-finite) and function
(subject, object, predicative, adverbial, modifier).

(1)
2)
€)
(4)

He told me that he was a photographer.
That he was a photographer was obvious.
Driving through the town, I saw at least two supermarkets.

The woman who owned the house told me that it was very old.

All the following sentences have some kind of marked word order.

Identify the type of deviation from unmarked order, and explain
why it has been used.

(1)
)
€)
(4)
()
(6)
()

A problem arose that no one had foreseen.

Only in England could he forget all his problems.

On my right sat a very old man with a green and orange jacket.
So difficult did he find the situation that he gave up.

‘Are you out tonight, dear?’ asked Jenny.

It was at this stage that his role became particularly important.

There was a column of black smoke above the rooftops.



